PR B IR 4 1
HiB#l

AS %7

IS N TG BHRE .
INEE RS ws | BE e | sess | | wm |mwws| R ‘o
e - Limin(ANR) | dmls-bar) | FEF3bt | Uimin(ANR)| dms-bar) | [E77EE

FHEEHIH AR AS1000-M3| M3x05| 20 0.06 20 0.06 47

$HE ARG AS1000-M5|M508| 90 025 | O"° 80 0.22 | 33 |
AS2000-01 | 18 340 0.94 250 0.7 20
AS2000-02 | 14 340 | 094 250 07 [ 115 ]
AS3000-02 | 1/4 810 23 810 23 130
AS3000-03 | 378 810 23 810 23 o2 [ 124 ]
AS4000-02 | 1/4 1,670 4.6 0as 1670 4.6 221
AS4000-03 | 38 1,670 46 1,670 4.6 214
AS4000-04 | 172 1,670 4.6 1,670 4.6 E
AS5000-02 | 1/4 2,840 7.9 2,840 7.9 242

AS3000 AS5000-03 | 3/8 4,270 11.9 4,270 11.9 E
AS5000-04 | 12 4270 | 11.9 4270 | 11.9 224
] ? ) ) SRR EH0.5MPa, 5 E20°CH H91E.
ﬁ é‘ é; U
= fEAR =5
AS000 ASI000ME o oo 3) RIERES 1.5MPa(1.05MPa)
JISERAS F) ReEREN 1MPa(0.7MPa)
= %) RIRERESN 0.05MPa(0.1MPa)
[ 7 I IMERERERREEE — 5~60°C (kK E L)
) ()WAAS1000895% 5.
Bt
B S BEES
sk M-5N AS1000

F) HEELNHE B SRR A AS1000-M5-N

AEE BSRTHE
'_ _______________ 1 — —
| EARIRIE. 1
| 24 L Eennmse. mansz  AS 000 -| [m5]-| |-| |
|/ HEEEBETIHP.468~47 185k, | l—l
R - AN ST
1] M3 M5EE
2 | 18 1/45E J 5¥3) B
3 38K A 3E3) [NAS100071 %,
4 125K AT
o L= 2 Hz1) | mEiE_5-800)
e L2 | fREMiE(—30~60°C) |
e | KHIRE(M3 M5) 7E1) AS5000 4455 & o
FiL S R | AS1000F5h.,
N NPT EEOE 35¥2) AS1000, AS20008%: 5k,
B G EREOE & & F
M3 M3 x0.5 AS1000
M5 M5x0.8 AS1000
01 Rci1/8 AS2000
02 Rci1/4 AS2000,3000,4000,5000
03 Rc3/8 AS3000.4000,5000
04 Rc1/2 AS4000.5000
526

O
2



TR B IR o
rRERERE AS 27

it e ) SRR AR R
AS1000-M3 AS1000-M5 AS2000 -
KA 7: 0.5MPa ol T 250 I I - } - |
_;_j"\ﬂUEjJ:O.S.MPa _ / 200_—9’?1)”.'“1:7]:9-5MP3 ;
g " 2% 71 z L] A
U B
<10 < 40 T = 1|
: - t [ /] E oo TMH
S5 =] S 20k : | 5 so|——t—1—1 /
1 e b / | | ] ASD
T o 4 6 8 10 | o 2 4 € B
dmEss @ sHEEsES B SR
AS-FE
AS3000 AS4000 AS5000 KE
I [ —RMWEH: 0.5MPa [~ 5000 ——F S
| —RE 71: 0.5MPa
| ] J L] | st
—RWE7: 05 - 4000 d
3 Shy | |AS-FP
lnnn / < 3000
o £
/ g £ / hsm
= E i ,, AS-D
L 3 | 1 #1000 A AS-T
E 4 E 2! ¢ = o L ASP
R E AL 01 2 3 45 67 8
— 1 SHREEH J
— |ASN
AQ
AS1000-M3 / &4
BB AK
F2] % | HE a5k
1 |imB 4 EBRES
2 |tk w4 EBmES \ICHC
3[4t %4 EEBER
4 |98 @ R ASS
5 |Fit %4 o B
6 |U i@ |HNBR ASR
7 % EERES AsSQ
8 NBR 45%x3x0.75
9 NBR 2.2x0.8x0.7

JE) TR S RMMRERER AL RER.

B G

FS =Ly ME FS E=E7 MR =E

1 B #He® 9 |O®HE NBR

2 £ THER 10 |$HMSE | #iA T B RAER
3 B A 1| F# #iR T RES
4 B TER 12 |EfpdsiisE W
F) TR HERARNREREARATERER.
AT

5| ER R e %

5 | ME 4R 1429138

6 | UEEHE HNBR 142964-3

7 | ORE NBR KA00327 | 09 x 07 x 01

8 | NBR- 440 M-5G2

%) 44198 2AS1000-M5-N,
AST000-MSE s, Hiksk. BEBAN.

SwmC 527

O



AS %7l

AS2000 - 3000 / 514 [

B G
o S
S kil AS2000 AS3000
1 B 8246¢ BE®
2 |5t #A #4
4 | X9 # W
HEBRER
ATt
= THAERS
W & B AS2000 AS3000
3 | HEE NBR - #43 143022 14283
5 |OFE NBR 143021 14284
6 |#E TER 143023 14282
AR EH G
#5 B R
1| BEE
2 | # 4IRS
3 | RTFRMNEET WL
4 |EREMINE THEN
5 | Fit #ae
6 |3 WL
7 |88 #Ee
8 | £ES
12 | O NBR
A
#S E=E #R TEHRS
9 | ¥MiE NBR - #4§ | 143145
10 | 3% TEN 143146
11 |ORE NBR 143147
AS5000 /2544 &
HRE R
#s E=E7 Lz
1 | ‘& BEE
2 | & 5LIRR
3 | tFRkET Er
4 |EREMINE FER
5 |F# #6%
6 |3} THEN
( 7|8 #ae
8 |Hild BE®
12 | O NBR
/
@ (3/ ® @0 D GlE: 3G
#Hs E=17 MR TEHHRS
9 |BEH NBR - REEH 14143
10 |25 REH 14144
11 | s NBR 14147

528

O
3



FRAERE F'*:%l i AS Z7|

AS1000-M3 / 5ME R~TE AS1000-M5 / 5hfE R~ E

3 2re21 % AS

2 v =

E Qﬂ . k TMH
. ASD

M3x05/ #5M5 20,6 {vemos m
HBERT, MBERS AS-FE
11)AS1000 -M5-NZ2L R T, KE
AS2000 - 3000/9|\ﬁ2R'T_|' AS4000/9|‘}F2R'T.|' AS-FG
2X1/4~1/2 AS-FP

L4

===
—-o|| =2

. "
ax#EOE g
< \
: ASP
5 5 3 )
. @ ASN
S " | .
£ ! JJ 3 | AQ
T
L2 L3 L8
' U 2%0D ASV
AK
s A
L7541
RS #E®OZ  |L1|L2(L3|L4|L5|L6 MAX,MII\)I, L8| D VCHC
AS2000-01 Rc‘/& 40 |30 | 5 [17 |10 [155(545| 50 | 16 (4.5
AS2000-02 Rc V4 40 |30 | 5 | 23 |11.5| 17 | 56 [51.5| 20 | 4.5 " 50 2 2)-(M4><07 Ass
AS3000-02.03 | Rcl/43p |56 |455(5.25| 25 |132]20.6 68 | 61 | 26 | 5.5 WMRBSERYT. ERBAK B ASR
EN) LTRSERS, ASQ
AS5000 / S R<TEl
—
2X1/4~1/2
63
315 33
S -
0o |
% L&%_’ I T
>
<
z Jian
* o~
T b
2XM4X0.7 BREBHK 7 29
5| @
) <
e @1
49 7
MRBSERYT,

529

O
2



